
euSuusuLh 2uLru.[bsnr.r€uL u3nr.'
qnthu zuuuS\"ph bLouquSnhr€uL nhunr.uLu

faqUqULF qffdnf'fd8UL qdUfi,bfh'Ifn
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1. Zrurfultrprul]rtr hhpru\ru3nrp;ruh rfiutrlluqupurhqll Erunrulnrplntlrhg oquu[nqtrhp]r hudrup'
huilrultrplr U"qrIIrS \*tI hrurfu3trpfr qruurtlhpnrl rlurnmg{ruE brunrulnrplnttrhhp}r +hilrug
rlrnluhruurmgiluh rld*F'

1) gnplru prurpupntrl rutfuru\ruh 4.500 22 4pturl.
2) 9lnupu\ub phru\u{tulphpntrf rurfuru\tutr 4.500 22 4prud:
2.ZrutftultrpuJhtr hbpru\ru3mplutr urpunu+rqpngru\rutr 4ruurnluupru\ntpluh

hruuy;purnrynr,trbhph bruqulmplmtrtrhplrg oqurrlqtrhplr hturfiup hunlu3trp[ l1lnrfhS [ruu
hrurftuStrplr qrurrrr[tpnrl ilururnrgrlnrE brunrulnrplnttrtrhnh +hrtrug $n]uhunnnrgrfiulr rld*F' '

1) hptud2urru\rutr ntuntr.thu\urtr hruuurrurnnr-pSntlrtrhpntrf rfh\ hphtuurl]r hrurftup rurfuur\rutr
2.000l2 4pruil.

2) tfurh\urqurnrutrh\rutr thupquqqpngh ilhU hphluu3[r hunlup uufuru[rub L.IOO ZZr]Fuil.
3) rup{huurh t,qnrg rlh\ hph}uru1}r hrudtup rutfuru\rutr 1.100 22 qprurJ:
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